Appendix A : Protein variability for constant tran scription
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The standard linear noise approach is described in detail in [2].

Note that in this article the quthors defined Mj= z:’; Kij instead of My= -~ <,r> SR Ki ij in [2].
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Plug (25) into (24), we can ge't (2b).

A.2 mRNA autocorrelations
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Solve ImF(A) t) .
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For t>0, we have Impw() =Cae‘%, where G should be determined below.

Toke €50 and £-0, integrate from -¢ to €.
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From causqlitg. Impiay (£)=0 for t<0. Impea dgesnt diverge.
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To explain (3%), Since we have f‘\\(’()=ﬂ Exp(ﬁt)
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Appendix C: Protein variability with periodic upstream tronscription rates

I only show the cose without mRNA interactions

m 12(‘:\: m+\ P am S P+l
m —Be™ 1) pBb s po where 2(t)=A (It sin(wt)]

Denate the fime—dependent ensemble averages conditioned on the his'tortj of 2(t.
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